TRAJECTORIES IN A CYLINDRICALLY SYMMETRIC
MAGNET FIELD
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Orders of the Maniac

n(A) = number in A3 n(Q) = rumber in Qj
m = number in memory at address.

Logical Symbol

m~» Ac
m-=* Ac-
m-> AcM
m->Ac - M
m -> Ah

m = Ah-
m-=> ALl
m-» Ah - I
m=>Q

X

Q—=m

A—>m

S—mn

Order
Symbol | Address
AA Address
AB "
AR "
AF "
m "
BB n
BE "
BF n
]
m n
DB n
DD "
CA L
CB "
cc n
cn "
Ec n
m n
FA n

Write m in A.

Wirite -m in A.

Write Iml in A.

Wirite ~lm| in A.

Add m to A.

htid =il to Anr

Add |nl to A.

Add -|m| to A.

Wirite m in Q.

Multiply m by n(Q). First 39 bipits
of product appear in A. The 2-37 bigit
of A is set =« 13 Q is cleared.

Form m X n(Q). Write first 39 bigits
in A, last 39 bigits in Q. Set sign
1-“- Q - ﬂ.

Divide n(A)=m. Vrite quotient in
Q; Remainder in A.

Tranafer the control to the left hand
order of address.

Transfer the control to the right
hand order of address.

Perform like T only if n(A) > 0.
Perform like T' only if n(A) 2 0.

Write n(Q) into memory at given
address.

Virite n(A) into memory at given
address.

Replace the bigits 8 to 19 of m by
the corresponding bigits in A.



Order n(A) = number in A; n(Q) = rumber in G
Logical Symbol Symbol | Address m = number In memory at address.
S—+m' FB Address Same for the 20 to 39 bigits.
HS-» m FC n Same for the 0 to 19 bigits.
HS = m! FD n Same for the 20 to 39 bipits.
Rn EE Replace the contents AgA, ... A 39
of A and 0,7, ...03q of Q by
g 1“ ln .-')n‘ll - e Hlaqh
in A and N, .., LI IO :}:,
% L B q-!‘_‘“ n a
In DE o Replace contents as above by
m ul h.l-. l“‘f'l Ll L laq oo 20 O i'n
gg iﬂa;d S Ve arals 6‘3'“}91*“',\!1.4
a~>hc EF 3 Write the 12 bigits of n in positions
Eg 0 to 11 and zZero in positions 12 to 39
é of A.
a -»hh DF Add into A the 12 bigits of n in
.positions 0 to 11.
DS ED |Address | Set the O bigit of n(a) to O.
Print EA n Print m on teletype page printer.
Read FF " ‘Replace m by the next word on
teletype tape.
Punch CF " Punch m on teletype tape.
Stop OFF n Stop computation.
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TRAJECTORIES IN
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